MATH 19
MIDTERM 2 PRACTICE
14 NOVEMBER 2014

Name : SO&ZET“‘

Show all of your reasoning. You may use the back of each page for
additional space or scratch work. You do not need to simplify your
answers unless specifically instructed to do so.

There are five problems. Each problem is worth 10 points.

You may use one page of notes (front and back). You do not need
to submit it with the exam.




(]_) Solve the following initial value problem.
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(2) Determine whether or not each series converges. Be specific
about which tests or facts you are using.

et 7

@ ST
Ratia text: (Tbenifae | o B (2224
'y{ﬂﬁ SR s R
L "2
‘ Wi+ — - : W .
- LU = Ui ()]
= 1fe.
Since Lel, e senion [convreps.
0.
(b) *;] kv/In ke
Inteqal fest
~ : u.:,QV\X JM
g:DXM&( =-)?
= Sm.}_;_du = [Zm]mo

= O ‘ZJ‘V\W =N,

Sinee the (w\-amal&kmw,l-kaww\aho



<’5) Solve the following initial value problem.
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(4) Evaluate the sum of each of the following series. You do not
need to show that it converges.
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(5) CHOOSE ONE of the following two problems. Indicate your
choice by checking the box. Either choice will be worth the same
number of points. Do not solve both problems. (Cross out
a.wm;?‘a.l.ch work for the problem you decide not to submit)
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(5) CHOOSE ONE of the following two problems. Indicate your
choice by checking the box. Either choice will be worth the same
number of points. Do not solve both problems. (Cross out
any scratch work for the problem you decide not to submit)
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(additional space for work)



